(A)_ 15 (B) 45- (C) Hemin - - + + 1.5, —r kR
15 < s Exk shNC + - + - x
@ E * %k % [ g k% shwnt3a - + - + X
SZio{g 1 EEroig] o & 10
X = X @®© - o
) 3 g % *k N-B-catein| m=— s . = p T
2 S 0.5 2 = 051 G 2 0.5 T
5> 8% APDH | s e e é
— — []
2 ° o T-B-catein| s s e =
0.0- 0.0- - 0.0-
e(, &\ ,%1, ,&5 Hemin . . + + LaminB| ees s s e Hemin . . + +
0.;« sh-Wnt3a ShNC + - + . shNC+ . + .
shWnt3a - + - + shWnt3a - + . +
(D) (E) *kk kkk 1.6- 1.5- *kk kx%k
°\ T n.s. n.s. T —
— =~ [a]
S > ?: 14 n.s. |_| % —
> 2 200- | o _‘ \ @ 1.0
e (8] ~ ~
= S | =
ﬁ s .% 1.2 I .g T
> ] T
e o 1004 - = 0.51
3 g 3 1.0- I 3
© @ Y o
- 2
O o 0.8 0.0-
Hemin . Hemin . . + Hemin . . + + Hemin . . + +
shNC + . + - shNC+ . + . shNC+ . + .
shWnt3a - shWnt3a - + - + shWnt3a - + - + shWnt3a - + .- +
(F) Hemin+ Hemin+
shWnt shNC shWnt3a
- 80-
<
(=] X
< 60- *kk *
2 | T
— : 40-
S =
= 8 204 *
o |
01—+ T
qé’ Hemin - - + +
§ shNC + -+ -
shWnt3a - + - +
(G) 600+ =
—_ = T
~ £ n.s. 6 ~
° o 298 l_l s Q
> Z = © 100- S Z 400-
2% oo =
< 'S o us
g5 & E s0- a3
= i — 0> 8 ey
— 0_
+ + Hemin -
+ - shNC + - -
shWnt3a - + - + shWnt3a - + - + shWnt3a - + - + shWnt3a - + - +



